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POLYNOMIALS

1. Find the zeros of the quadratic polynomials

and verify the relationship between the zeros


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4d4s07PizasS

and coefficients.

T2 + 21z — 70

° Watch Video Solution

2. Find the zeros of the quadratic polynomials
and verify the relationship between the zeros

and coefficients.

8x2 — 24x 1 18

o Watch Video Solution



https://dl.doubtnut.com/l/_4d4s07PizasS
https://dl.doubtnut.com/l/_RQcw2AdHOeMO

3. Find a quadratic polynomial whose

1 1

Zeros are —and — —
2 4

o Watch Video Solution

4. Find a quadratic polynomial whose

Sum of zeros is ; and the product is 3

o Watch Video Solution



https://dl.doubtnut.com/l/_mZDudwHmC8Mk
https://dl.doubtnut.com/l/_eVVFa0hRsAlM

5. Find a quadratic polynomial whose

Zero is 4/b and only /b

o Watch Video Solution

6. If o and B are the zeros of the polynomial
ax® + bz + c. Find the value of

a2 +ﬂ2

o Watch Video Solution



https://dl.doubtnut.com/l/_9rogiOUrKFHR
https://dl.doubtnut.com/l/_e5evdm7epziw

7. If a and [ are the zeros of the polynomial
ax® + bx + c. Find the value of

a2 +,82 +Oé,3

o Watch Video Solution

8. If a and 3 are the zeros of the polynomial

az’ + bx + c. Find the value of

a—p

o Watch Video Solution



https://dl.doubtnut.com/l/_qVHCElzRduD5
https://dl.doubtnut.com/l/_btBmnutwtKwh
https://dl.doubtnut.com/l/_LIcbsZpVuWBg

9.If a and B are the zeros of the polynomial
ax® + bx + c. Find the value of

a3 +/83

o Watch Video Solution

10. If a and (8 are the zeros of the polynomial
az® + bx + c.
If one of the zero of the polynomial is double

the other, prove that 2b° = 9ac

° Watch Video Solution



https://dl.doubtnut.com/l/_LIcbsZpVuWBg
https://dl.doubtnut.com/l/_DOlyTMUALsYf

11. Given that 2 is a zero of the polynomial
p(x)= 3z° — 922 — 30z + 72. Find the other

Zeros.

o Watch Video Solution

12.1f 7 — /5 is a zero of the polynomial p(x)=
3 + bz? + 100z + ¢, then find b and ¢ ,

where b and c are rational numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_i8KJN6662PgJ
https://dl.doubtnut.com/l/_pWDjnJxXuN1u

1. Find the zeroes of the quadratic polynomials
and verify the relationship between the zeroes
and the coefficients.

322 —z — 4

o Watch Video Solution

2. Find the zeroes of the quadratic

polynomials and verify the relationship


https://dl.doubtnut.com/l/_WXsXixCZCiM0
https://dl.doubtnut.com/l/_rC3hIfQXmGr5

between the zeroes and the coefficients.

dz> — 4z + 1

° Watch Video Solution

3. Find the zeroes of the quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

2z° — (14 2v/2)z + /2

o Watch Video Solution



https://dl.doubtnut.com/l/_rC3hIfQXmGr5
https://dl.doubtnut.com/l/_pfBnilVD3ru0

4., Find the zeroes of the quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

4./5x* — 17z + 3,/5

o Watch Video Solution

5. Find the =zeroes of the quadratic
polynomials and verify the relationship
between the zeroes and the coefficients.

r2 — (2a + b)z + 2ab

| & I


https://dl.doubtnut.com/l/_Gh5LBkkU5DSA
https://dl.doubtnut.com/l/_yjdv4a5yQUV9

| ¥ Watch Video Solution |

6. Find the zeroes of the quadratic
polynomials and verify the relationship
between the zeroes and the coefficients.

abz® + (ac + bd)zx + cd

° Watch Video Solution

7. Find a quadratic polynomials whose zeroes

are.


https://dl.doubtnut.com/l/_yjdv4a5yQUV9
https://dl.doubtnut.com/l/_zMUXnlj65JOz
https://dl.doubtnut.com/l/_ZplbZoes4pmM

° Watch Video Solution

8. Find a quadratic polynomials whose zeroes
are.

2/3,-1/3

° Watch Video Solution

9. Find a quadratic polynomials whose zeroes

are.

a+\/5,a—\/5

| e |


https://dl.doubtnut.com/l/_ZplbZoes4pmM
https://dl.doubtnut.com/l/_zBHFnF9E97qY
https://dl.doubtnut.com/l/_nWX4LdQMr8H9

& Wwatch Video Solution I

10. Find the quadratic polynomial whose sum
of zeroes and product of zeroes are given
respectively as

-1/4,1/4

o Watch Video Solution

11. Find the quadratic polynomial whose sum

of zeroes and product of zeroes are given


https://dl.doubtnut.com/l/_nWX4LdQMr8H9
https://dl.doubtnut.com/l/_cyEhVXNuZMIM
https://dl.doubtnut.com/l/_e93pXFoJv0Ly

respectively as

V2,1/3

° Watch Video Solution

12. Find the quadratic polynomial whose sum
of zeroes and product of zeroes are given
respectively as

8,12

o Watch Video Solution



https://dl.doubtnut.com/l/_e93pXFoJv0Ly
https://dl.doubtnut.com/l/_eTlLkghGeD33

13. Find a quadratic polynomial whose zero is

v/3and only /3

o Watch Video Solution

14. Find a quadratic polynomial whose zero is

V7 and only /7

o Watch Video Solution



https://dl.doubtnut.com/l/_iIvYvRlq5aVw
https://dl.doubtnut.com/l/_ezhZ5ZLTr6Ji

15. If a and Bare the zeroes of the polynomial
az’ + bz + ¢, find the values of

'1/alpha + 1/beta’

o Watch Video Solution

16. If a and Bare the zeroes of the polynomial
az’ + bz + ¢, find the values of

a2+ﬂ2

o Watch Video Solution



https://dl.doubtnut.com/l/_HWszs1sWsKbR
https://dl.doubtnut.com/l/_Y1CSjKIRcMGt
https://dl.doubtnut.com/l/_hUljZt7TaVuQ

17. If a and Bare the zeroes of the polynomial

az’ + bz + ¢, find the values of

B

(87

g
B

o Watch Video Solution

18. If o and Bare the zeroes of the polynomial
az’ + bz + ¢, find the values ofalpha”2/beta

+ beta”2/alpha’

o Watch Video Solution



https://dl.doubtnut.com/l/_hUljZt7TaVuQ
https://dl.doubtnut.com/l/_g3H1GXXLcGp2
https://dl.doubtnut.com/l/_5B53X5IdCii4

19. If one zero of the polynomial
(a2 +9):1;2 + 13z + 6a is reciprocal of the

other, find the value ofa.

o Watch Video Solution

20. If the product of zeroes of the polynomial

az’ — 6x — 6is 4 find the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_5B53X5IdCii4
https://dl.doubtnut.com/l/_0wvAKkflpEFi

21. If the sum of the zeroes of the quadratic
polynomial kz? + 2z + 3k is equal to their

product find the value of k.

o Watch Video Solution

22. If a and B are the zeroes of the quadratic
polynomial z* — p(z + 1) — ¢ = 0, show that

(a+1)-(B+1) =1-c

o Watch Video Solution



https://dl.doubtnut.com/l/_Z08hQIhqaA4V
https://dl.doubtnut.com/l/_bIsVSkJVYe3I
https://dl.doubtnut.com/l/_V7o4YuOlYcau

23. If the squared difference of the zeroes of
the quadratic polynomial z* + az + 45 s

equal to 144 find the value of a.

o Watch Video Solution

24. If the sum of the square of the zeroes of
the quadratic polynomial z? — 14z + pis

equal to 100, find the value of p.

o Watch Video Solution



https://dl.doubtnut.com/l/_V7o4YuOlYcau
https://dl.doubtnut.com/l/_563aFBd9m9xf
https://dl.doubtnut.com/l/_USdReKL9Uprh

25. Given that 3 is a zero of the polynomial
p(x) = 2z° — 152° + 37z — 30, find the

other zeroes.

o Watch Video Solution

1
26. Given thatEis a zero of the polynomial p(x)

=21% + x% — 5z + 2, find the other zeroes.

° Watch Video Solution



https://dl.doubtnut.com/l/_USdReKL9Uprh
https://dl.doubtnut.com/l/_Cc9cBdLOa8S3

27. If the zeroes of the

polynomial

2 — 32> +x+1area—>b a a+b find a

and b.

o Watch Video Solution

28. If the zeroes of the

3 — 1222 + 392 — 28 are a —

find a and b.

polynomial

b,a,a + b,

o Watch Video Solution



https://dl.doubtnut.com/l/_GVoP142uKQ36
https://dl.doubtnut.com/l/_xtHtl1qXdP8H

